H-25mm

M8x25

M8x50

8mm

M8x40

(S
(6) x2 Ry, M8x70

@5mm

@4mm

Ax1

Bx1

®°° : www.innovationliving.help

069877-01

/\

D/E -

- - —
/

—_———
/
/
/

x4 (& @xa

@ x 4 @ H-25mm
@ x4 @ M8x25

Dx1




069877-01

a_ )

Ay




!\

rTT T T T T A

069877-01

!’)))))))))Av MMMY),

(((,,
(6)x2 "y,

> 0 €. X 0| O

PRODUCT ID:

1971009900019CN3214




069877-01

AW} /

L

1
A/ !

e — ==t

alll
I\
\

\
\

Fmm—mm————

42.23




